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ey 1 (1) Soasg darsseEpd slurs udard 2 _GTETHT 6T 6l LIS 6 6l

sflurisgs Qsrareraybd. idaludeliedr Gapulmindear mns
sansrafluurerfiLib 2 1 anqwrss Ggfelssa,ib.
(2) Bawb g smUY ewulaman L RGCW eTseISHEL LweT(h5S
CouamBb. LLBISET auaTeaugHE CLald LWaTLGHESaLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Black or Blue ink to write and pencil to draw diagrams.

@nluy Coemauwiman QLGS LLLD eueTHgl, FETUTHSEDET 6T(s)s.
Note : Draw diagrams and write equations wherever necessary.
' L@ - 1/PART - I
GOl : ()  Syemenss lamésErsEn el waléssallb.
(i) esfurear eleemws CorbRs®s8 6T9sis.
Note : (i)  Answer all the questions.
(i) Choose and write the correct answer.

30x1=30

1. @@ Sargaaisams Qewd weopssrar QeuliL Quissediid Blubgenan OIS
T g P @

(21) AG<0 (<) AG=0

(&) AG>0 - (7) () wogib ()

Thermodynamic condition for irreversible spontaneous process at constant ‘T’ and ‘P’
35!

(a) AG<0O (b) AG=0

() AG>0 _ (d) both (b) and (c)
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2. foc LIRHEHD @ DNWGS sl g 2 6ter QTss dignésaflan eramenisms
(1) 1 ()2 (&) 3 () 4

The total number of atoms per unit cell in fcc is :
(@ 1 (b} 2 : () 5 (d 4

3. creslgreafer mlweoL gaeweil edersdluielr

(1) Gumi (=) Qamiiser LTS (@) 14.9rr&Cer  (FF) L6

Dual character of an electron was explained by :
(a) Bohr (b) Heisenberg () De Broglie (d) Pauli

4.  Sps@TLeupmIET 6Tl eraflu ST
(1) CH; - O - GHj (<) Cgtls - O - CHy
(8) CHs-O - CGHs (/) CgHy - O - GHs

Which one of the following is a simple ether ?

(@) CH,-O-C,H;s ® ‘e -o-cHy
) GHs=0 -6 H; @ L N0l

5. [FeFJt~ umym srhsssenenn Qaram gl gGeamafie
(=) F-@epLa rrafl
(<) F~ Hlenp Ljev el
(@) F~ euenemyid ganenwo Qamari rrafl

() F~ Qer@éfenenrii Garo mrefl

[FeF¢]*~ is paramagnetic because :
" (a) F~ is a weaker ligand

(b) F~ is a stronger ligand

(c) F~ is a flexidinate ligand

(d) F~ is a chelating ligand
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Gapuir wenuier swCwraflur gurfssded =ds 2ema bGwreaflur
HenL_LILig)

(=) GoPDHS WSS LHPYID 2ifls Ceutiiflera

() GODBS SHEHD LHPID> E@DES Qe Hae

(@) <5 SiWssd wHmb Fs euliublene

(F) <=ifls SipSsb LHNID GoPhs Ceuliublae

In the manufacture of ammonia by Haber’s process, the maximum yield of ammonia
will be obtained with the process having :

(a) low pressure and high temperature
(by low pressure and low temperature
(c) high pressure and high temperature

(d) high pressure and low temperature

qermed ellenereilD@ o L UL TEg)

(<) UmeLOLD (<34) SnLDOES M TEE
(@) Quuissamyse () sefl

The phenomenon of Tyndall’s effect is not observed in :

(@) emulsion (b) colloidal solution

(c) true solution (d) gel

Erevowipp sriuemen Qararigrrs 2 BlGermm llebd

(=1) Slanerdlenm (=) Svaflen (@) yGrmreder () engGrrélem
The aminoacid without Chiral carbon is :

(a) Glycine (b) Alanine (c) Proline (d) Tyrosine
apLCrr g oCsansafgerer - NO, Gasrgdew - NH, Ggr@dwurs wrppib srewf
(1) Sn/HCI (=) Zn  gser (@) Zn/NH,CI (/) Zn/NaOH

In nitroalkanes - NO, group is converted to - NH, group by using the reagent :
(@) Sn/HCI (b) Zn dust (c) Zn/NH,CI (d) Zn/NaOH

[ plinys / Turn over
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10.

11.

12.

13.

4

opsGrTD 2 Carsd swameiudle o drer o Gargshiser
(<1) Cr, Ni, Fe (<) Cr, Co, Ni (@) Cr, Fe

The metals present in Nichrome alloy :
(a) Cr, Ni, Fe (b) Cr, Co, Ni {e}y Er, Fe

Spsacupmer erg eren Crmieow oFafssrg ?

(<1) BmdY Hi6 5560

(=) veafllGspeow Brrs wrHmSeED

(@) seaysdled 2 drar &&ECTTENE Llg.&HLOME G560

() SHLTSMS LISRISLOTEEGSHED

Which of the following does not result in an increase in entropy ?
(a) Rusting of iron

(b) Conversion of ice to water

(c) Crystallisation of sucrose from solution
(d) Sublimation of camphor

searansCrm elevans@ o L rg Ceiolb
(=1) urrordg®msEEH (=,) Quensreigens(H
(@) <fLLTeigemsH
The compound that does not undergo Cannizaro reaction is :
(a) formaldehyde (b) benzaldehyde

(rr) Cr, Fe, Cu

(d)

(c) acetaldehyde (d) trimethyl acetaldehyde

Cr, Fe, Cu

() Leny QugdHler AL Lroqems(H

2H;0g) +2Clyg) = 4 HCly+ 0y, ereamp soflowse K, wpmbd K

g Sweupdpsrer QT

= - -2
(@ ) Kp - KC(RT)l ( FF) Kp e KC(RT)
2H20(g) + ZCIz{g) = 4 HCI(g) +02(g) |

The relationship between K, and K_ for the equilibrium is :
@ K=K (b) K,=K(RT)?
() K,=K(RT)! (@ K,=K(RT)~2
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15.

16.
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refle o drer 2 sallmear auallanoiflsEs Biblemis@EpLan L)
< 5Cralwb 2 tienusd SmADG. :

(=1) eredL e hmLd (=) Gl erdoLd

(@) uCpriimen B&sid (/F) B BésD

Strong mineral acids the ethereal oxygen forming oxonium salts,

(a) electronate (b) protonate

(c) deprotonate (d) dehydrate

umeLnd syemtludlem Liwier

(=) urewRIGmeT 6ILPLIGaITEGSDE

(<) uremsafian ger @uieenl Q&as CFlSNE
(@) urewhismea HlamOWrs eallUSDE

(7)) uréwBsmer dsalRGarmnb CalusHE
Emulsifying agent is used for :

(a) precipitation of an emulsion

(b) denaturation of an emulsion

(c) stabilization of an emulsion
(d) oxidation of an emulsion

RO&EW sTssmranw Carhols®

(=1) &&Crmev (<) QeanCeomen

(@) evLmi& () GEpsECsmen

The reducing sugar is :

(a) Sucrose (b) Cellulose

(c) Starch (d) Glucose
<5Cer Cpi Sjweaflgamer 2 (HeuTsGSDG!.

(1) rhsenet(h&er (=) W Slqemar(haer

(@) 2wflu eurwsser (/r) &my 2 Ceorsmkigser
form oxocations.

(@) Lanthanides (b) Actinides

() Noble gases (d) Alkali metals

[ SiwLiys / Turn over
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18. PCl ppedaadled 2 6TaT G)ansaaLiL
(1) sp® (<) sp>d? (&) spd () sp

The hybridisation in PCl; molecule is :
(@) sp® (b) sp°d? (o) spd (d) sp?

19. empsmadsaie srariu@b AHsULs 2 sedlinGadn Blane
(1) +1 (<) +2 (@) +3 () +4

Maximum oxidation state exhibited by lanthanides is :
(@ +1 b)) +2 (€) L 1=k3 (d +4

20. o wflu emussErsE efemaryfluyn Hoer Gona, gOemetley,
(1) <iwal @G ereamantEamaldTer eradl TTansamar Clamer(Harere
(<) Sleupdlen jamidsl(H T Qe
(@) siwal G@DHS SAL-TES®LW QUTLS&6T

() ieweu Blevewss eravdiman 2iepolienls GupmiaTeTe

The noble gases are unreactive because they :
(a) have same number of electrons

(b) have an atomicity of one

(c) are gases with low density

(d) have stable electronic configuration
21. g sersdlen pH=2 aafldy 2fléd o drer manL yeer swefseaflar Gedley

Gomre -1 @ev
(1) 1x10712 (<) 1%1074 (@) 1x10-7 () 2104

When pH of a solution is 2, the hydrogen ion concentration in moles litre =1 will be :
(a) 1x10-12 () Asiers (@ 1x10-7 (@) 1x10-42
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23.

24.

25.
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erpdlaienan iSear eTsHeSan SeverssTens wrHpes)

(<21) Na,CO,4 senrae (<21,) BT 2ibleid
(@) NaHCO, serae (/) Guuwfler syewf)
Ethylene diamine is converted to ethylene glycol using :

(a) Na,CO; solution (b) Nitrous acid

() NaHCO; solution (d) Baeyer’s reagent

UTTT &THS S6enLd LIGHTL DL & STFeanTid

(1) Cymg eredL_Frenser

(2) pyowvwrs Hriulul L s Trear o dram s
(@) safllgs eras  rrenser

(FF) PUougIDd srellunrs o 6rer eradlrer o 6Tam (Haer
Paramagnetism is the property of :

(a) paired electrons

(b) completely filled electronic sub-shells

(c) unpaired electrons
(d) completely vacant electronic sub-shells

Gen aumeuameupmieT 2iflas cuallaniowjenw =flen erg ?

(1) CH;COOH (<a,) HCOOH

(@) CICH,COOH () CH,CH,COOH
Among the following the strongest acid is :

(a) CH;COOH (b) HCOOH

(c) CICH,COOH (d) CH3CH,COOH

Slellssm Qged QUIHLLITETELWITET GUTLSSEmET HwaUhSSUILHE DS

(=) urdy seur (=) 2-Hleps

(@) QeueflCumm () Qeeuwamardg)b
Silica gel is utilised for the of the number of gases.
(a) adsorption (b) absorption

(c) desorption (d) all of these

[ HBliys / Turn over
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26.

27

28.

29.

8

Quendern e wCerafwbd GCerrenren. GCarrCrm QuenfarTs mHmieg,)
(<=1) arar_Guwir ellener (<=1 evteLicn allenaT

(@) srbdurs ellener (rF) euasmliem - Querwesr eflenar

Conversion of benzene diazonium chloride to chlorobenzene is :
(@) Sandmeyer’s reaction (b) Stephen'’s reaction

() Gomberg reaction (d) Schotten - Baumann reaction

srirenueller allenaruie rFHU@L sMwsGsroid

(=1) (CH5),NH () C,H5NH, (&) (CHs);N (FF) (CoH5)N*I™

The organic compound that undergoes carbylamine reaction is :
(a) (C,Hs),NH (b) C,HsNH, () (GyHs)3N (d) (CHg)N*I™

Qsr@duder Cuamba Sprs Geweibd Curg wefl <prd
(<=1) G@ndngl

(<) <1flsflsdng

(8) wsdle siflafllsg e Gondpg)

(/) wrdledlwuing 2 erarg

On moving down a group, the radius of an ion :
(a) decreases

(b) increases

(c) first increases and then decreases

(d) remains constant

oUP% o Lam @ Hulrrmer o MeEpdl 5,Xel®d, ;35r% whmbd X eream
eSlemer@Qumpener smHEDG . @He X eramig)

(1) 3 Blupl_rrenser (<=4) 2 Bluy L rresser

(@) o- giser (FF) B- giser

92U235 nucleus absorbs a neutron and disintegrates into 5,Xe!®, 4,517 and X.
What is X ?

(a) 3 neutrons _ (b) 2 neutrons

(c) a-particle (d) PB-particle
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30. & edlewaufled Ea=0 wmmid 300 K 6» K=4.2x10° eflanmmg.~1 eresflev 310 K - e,

K - ar L
(=) 4.2x10° efleormig —1 (<=4) 8.4 x10° eflammig. —1
(@) 8.4x10~° afleumig ~1 (FF) 4.2x107% efleormig 1

For a reaction Ea=0 and K=4.2%10° sec—! at 300 K, the value of K at 310 K will be :

(a) 4.2x10° sec—? (b) 8.4x10° sec™!
(c) 84%1073 sec™! (d) 4.2x1075 sec™!

L@ - II/PART - 11

@iy : () eaCoeand uflenennig SamssEpsE elanwarl.

15x3=45

(i) qeuQeurp efemelpH@GLd @eTMI 2160608 BTeiT(H cursdlwkiseafe

MlenLwiafl.

Note : (i) Answer any fifteen questions.

31.

32,

33.

34.

35.

(ii) Each answer should be in one or two sentences.

Qanwisen Quirsdler Hlenewuleveor CariLmiiqenar er(pFis.

State Heisenberg’'s uncertainty principle.

osLj@pflafen erevslgrem priLib @GGerrileneneil @eme]. erem ?

Why electron affinity of fluorine is less than that of chlorine ?

WerbCum sengliuimer senenwo (WerbGur sreeuered)) LHMl @GMILIL 6T(HSHIs.

Write a note on Plumbosolvency.

H,PO, p&amrsgieud 2 el wgl. Hlem
H,PO, is triprotic. Prove.

d- QsrEgd saflvmsa wrMU@D sallnCarnn Blamosmer GUOHDHLLIZ

ereum ?

Why do d-block elements exhibit variable oxidation states ?

[ H@Liys / Turn over
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36.

37.

38.

39.

40.

41.

42,

43.

44,

45.

10

“Elevauit 2 LIPS ETEIDTED GTETam ? 2iHenan eTeleUTn SHSHOTLD ?
What is “spitting of silver” ? How is it prevented ?

UP8 o U smelflsn oievraurpey sreb ty, =140 priser Qeleyl smeler syref
QUTLPSHTVSENG SETaHS(H 5.

Determine the average life of U? having ti; =140 days.

2 Sldlen sL_SSla6T erammmed eremen ?
What are super conductors ?

EnsanL Hleoaweno wrhpsdar Curg eran_Crmd wrHPs®Ss saTsdl (.
AH{Transition) =2090 J mol ™~ :
1 mole S, (a, 13°C) = 1 mole S (B, 13°C)

Calculate the entropy change for the following process possessing
AH (1 ansitiony = 2090 J mol ™ 1
1 mole S (o, 13°C) = 1 mole S_(B, 13°C)

&) &r_iqelm QETaTansmL snms.
State Le-Chatelier’s principle.

T aflenana(@ehé(@ (LpeTn FTETHIHET S(HES.

Give three examples for opposing reactions.

graheflwey Fwearum’ el eripd derée@s.
Write Arrhenius equation and explain the terms.

Wlenpener saliFFl erenred eremar ?
What is electrophoresis ?

Werarmdh LESs® LpPlw ourrGLufer @reammd Sfulamans &ms.

State Faraday’s second law of electrolysis.

1BGem Lrir_rflé idlevid, Frenlo semepowiHp SrTLmens QsTarTL afl spHOILD
geanepioullvers Gorwb-2 ar Lo HuruiuBsss.

Mesotartaric acid is an optically inactive compound with asymmetric carbon atoms.
Justify your answer.
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47,

48.

49.

50.

51.
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HefeCrmev cremmmed cranan? 2ig Heflarralledpbg creveurm QuUpULGEDS ?
What is ‘Glycerose’ ? How is it prepared from glycerol ?

Senred ereucurg enmligadenrs wrhplu@Gang ?

How will you convert phenol to phenolpthalein ?

Qe aumeuamaubhdlesr IUPAC Quwifsmers S(HS
(=1) GCrTLamrediq s (h

(=) Qgder n- LCrmiiemue S CLmen

(@) Quensreigens(h

Give the IUPAC names of the following :

(a) Crotonaldehyde

(b) Methyl n-propyl ketone
(c) Benzaldehyde

sTiLTEeNels Siflohismars sam_Hleaugnsrar G CorsmaaEmerd S(Hs.

Give any two tests to identify carboxylic acids.

C,H:NO (A) eredim (pev&snm euriiumBentul &Mw&Csriob Br,/NaOH o L6
evarufBg CHN erenm (B) Coiwgas smalpg. Gemwbd (A) LiAlH,
wearallmaoudie g@sswamLbg CH,N eaeam Gerwb (C) g smHAng!.(A), (B)
wHHL (C) & saTL_Ms.

An organic compound (A) of molecular formula C,H;NO reacts with Br,/NaOH to
give compound (B) of molecular formula CHgN. (A) is reduced by LiAlH, to give
compound (C) of formula C,H,N. Identify (A), (B) and (C).

&y Hleurganflaar erampmed ereven ? @i THSHEST(H SMHS.

What are antipyretics ? Give an example.

[ HHLys / Turn over
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U@ - II/PART - III
GOy : g@eaGermp Yfelle @QmbgIbd GopHs ULsD B elarssmean
CaibOs®mSs Qwrssh e efamssEnse oL waflésab. 7x5=35
Note : Answer any seven questions choosing at least two questions from each section.
19fay-2 / SECTION - A
52. O, pp@é&sa 2 (HeUTeUams Apa&dn pTaLTd CararamsLiLig ellersEs.

Explain the formation of O, molecule using molecular orbital theory.

53. fdeu ereueury =g wesAw srgeld Qmps WMsCsHEsLLGSEDS
erenueng eleufl?

Explain how silver is extracted from its chief ore.

54. erpgoa() GnEsssdHar eflenareysemen cllour]

Discuss the consequences of Lanthanide contraction.

55. Qaandper Genanriiy Gsmearensudiar Liig [Ni(CN),J>~ wpmib [Ni(NH;),]?*
2 flu Caroriseler sramiu@b Gardsoll, STHSLILETL HMHID S
Spdweinern alarsEs.

Explain the type of hybridisation, magnetic property and geometry for
[Ni(CN),J2~ and [Ni(NH,),]** using VB theory.

Wifley - gy, / SECTION - B
56. Qeuliu Quisselweden @rarrLid eflflsarar OGN smbDHSMET 6T(PSIS.

State the various statements of second law of thermodynamics.

57. PCl; flewgwidb efleweans@ K. whmibd K, wroledlsEnEsrer &wemu m(h&ear
eu(HeN&HSE|LD.

Derive the expressions for K. and K, for the decomposition of PCls.

58. eflenen euansudian wp&flu Aptnfwegemer efleuf ?

Discuss the characteristics of a order of reaction.




59.

60.

61.

62.

63.

13 3083
Spsaranid e sagSlen L emf gujib, so elleanulen Hi L a1 igor <pHHeD
THDSMSWLILD FHewTEE ().
Zn/Zn?*||Ni2+ /Ni

B oo
Zn g = —0.76V

B
Ni A'i =025V

Determine the standard emf of the cell and standard free energy change of the cell
reaction.

Zn/Zn?*||Ni2+ /Ni

E°. oy
Zn G0 = =076V

B Niz*'/é. = 025V
1

9fley - & /SECTION - C
L ergdled Feit sLUTfEE epamm wansamer eferéss.

Give any three methods of preparation of diethyl ether.

<FLregman(H&E D, duaFroigmanHE@Gn o drer Coumur®aer wramey ?

Write the differences between acetaldehyde and benzaldehyde.

&Tiun&Slells ibleb <ydsanTai e edemearyfiuyb eravL_Frégss efenamuien
aulepenpeni Famis.

Give the mechanism involved in the esterification of a carboxylic acid with alcohol.

Slyenr-S wHYIDd eparTar-66 e ereveurm swurfssiiu@deamen ?
Sjeundien LIWITSE®ETS S(Hs.

How are Buna-S and nylon-66 prepared ? Give their uses.

[ Hwliys / Turn over
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u@$ -1V / PART - IV
@Iy : (i) GCrgsd HreNg MamsEsE@hssE oAepLwa. 4x10=40
() ofenr erewr 70 sLLmuwIsaD Bgwerer elamssaia gGCHemib
et NS @EREE edlenLwiarf]
Note : (i) Answer four questions.

(i) Question number 70 is compulsory and answer any three from the remaining
questions.

64. (=) er&LTen SauHper semsS@HL LTk <iereil_enL elleTE@s LDHMILD
SiBen GH@PUT(HSMET 6T(DSIS.
(<)) sLi@pflan ereueurm WP anTeResaiLLlGHbS] CaumgupBSmgl ?

(a) Explain the Pauling scale for the determination of electronegativity. Give the
disadvantages of Pauling scale.

(b)) How does Fluorine differ from other halogens ?

65. () 5585 FTATMSEHL G 6N ENT6 proMwd wLHNDL Sualurge
rHPwkismer 6dl6TsEs.
(<) adNwés sriuen are Biaru wapemw ellersEeEs.
(a) Explain the co-ordination isomerism and ionisation isomerism with example.
(b) Explain Radio-Carbon dating.

66. (<o) asrl & WwOHND - NQATrevsed Gmpurhiaamen efeurl
(<) MenenGeus wrHDb LHHIw LT safEd Qararangenw elleutl.

(a) Explain Schottky defect and Frenkel defect.
(b) Write briefly the adsorption theory of catalysis.

67. (=) Bprsm_gser upHlu GuUGamammi® Qararengeow eflaurl.
(<) @ Warswsdler el eHuGLL uwertu@b IUPAC e
N apepmEamer eT(PSIs.
(a) Explain Quinonoid theory of indicators.

(b) Write notes on IUPAC conventions of representation of a cell.
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68. (=) Hev-igrreney wrHBlubsmer UDH @G 5GHS THEHSSTL B

69.

70.

Ner&@s (SfwsCamomigser)

(<)) oLTTLfE SflwsHen @HEED Laramu aflardhs.

(a)
(b)

Discuss cis-trans isomerism with a suitable example. (Organic compounds)
Account for the reducing nature of formic acid.

(<) @flearw, mrlomearw wHHD pelmary basmer 6relalrD

Caumu@sgieimi ?

(<) Qr&CLrélen ey efleuil.

(@)
(b)

Distinguish between primary, secondary and tertiary amines.
Explain the structure of fructose.

<) C.H,O eren &M eumiiuml_eL Qsmrer Gamwid (A enev FeCl
6516 D ¢p il B 3

o g eargm Hpsms CarR&fng. Gefon (A) e@w CHCLopmib NaOH
o | 6n smiugsd Curg CHO, e ppoésmm eumiuriemL & Clamar
Qaiwhiser (B) whmib (C) eram mGerwismars smang. Cerob (A)
wreng 473 K Qautiuflevandied ZnCl, wpemafleneudes =ibCloraflwimeer
eNemarfibg CH,N eramm (pessmp eumiur® GClarar Gemwid (D) 85
smEg. Caiwb (D) sriemumlen 2,lielsE o | L. Ceromser (A),
(B), (C) whmid (D) 85 serL_dbg elmansmens 5(hHs.

(<) Qebupty Bp 2 Georsibd (A) gaflweafleans < Leaumanier Qsrgd 11,

(b)

aflemes 4 & @Lb QubmeTerg. (A) g 1370 K Qailiuplenaéd &1
QeuutiL@SSIbCUTE) (B) eramm s@mULBD Cemogemsub, 1370K 6@ Goed
G&OLESgDCUTg (C) eremp Heuliy Blp Cemodegiyd SMHEADG!. (A) LT
apl s fasg e elamau(h NO, aurme Qeuaflef_({ Garwob
(D) 26 Qar@&Sns. (A), (B), (C) wHDID (D) 86 STES. llmansmens S(Hs.
Compound (A) with molecular formula C;H,O gives violet colour with neutral
FeCl,. (A) reacts with CHCl3 and NaOH gives two isomers (B) and (C) with
molecular formula C;H,O,. Compound (A) reacts with ammonia at 473 K in the
presence of ZnCl, gives compound (D) with molecular formula CsH;N.
Compound (D) undergoes carbylamine test. Identify (A), (B), (C) and (D) and
explain the reactions. _

(A) is a reddish brown metal. It belongs to group 11 and period 4 of the periodic
table. When heated below 1370 K, (A) gives a black compound (B). When heated
above 1370 K (A) gives a red compound (C). With concentrated nitric acid, (A)
liberates NO, gas and gives compound (D). Identify ( A), (B), (C) and (D). Explain
the reactions.

3160608 / OR

3083
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C,H,0 eraim ppa@&dam eumiiur® Qarar Gaio (A) Leens smiyeufleni
2ty CH ol

(©

(d)

20&E0h. Gsiwb (A) HCN o e eleenfipg Gemod (B) & EIGEE
Gsirob (B) enw siflevgden wemaflamauisd Brrpugsen Curg CHO;
erenm ep@&Enn eumiur® Gsrear. Gaiob (C) 8 smEg. Geron (C)
afl HOHMD samen Qarear g. Gsiwbd (A) NH,/C,H;ONa 2 Len
2(B&sD @LpBs CHy erann eap Crreriuar (D) @w sBADS.
(A), (B), (C) pmid (D) & seamL_Hls. clemasmars S(Hs.

sirefloar Brssad ABR* whmbd SO2- Swealseldar sLSgssHpan
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Compound (A) with molecular formula C,H,O reduces Tollen’s reagent. (A) on
treatment with HCN gives compound (B). Compound (B) on hydrolysis with an
acid gives compound (C) with molecular formula C3H,O3 which is an optically
active compound. Compound (A) on reduction with N,H,/C,H;0Na gives a

hydrocarbon (D) of molecular formula C,H,. Identify (A), (B), (C) and (D) and
explain the reactions.

Ionic conductance at infinite dilution of AI’* and SO~ are
189 ohm~ 1 cm? gm equiv ~ L and 160 ohm ~ lem? gm equiv ~ 1. Calculate equivalent
and molar conductance of the electrolyte at infinite dilution.
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